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A Level H2 Math

Maclaurin Series Test 7
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Answers

Binomial Expansion Test 1
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Q1
— (kn +kar ]x+ (n)(n_l) kﬂ? 2_‘:2}
—2 b
(ii) X Very badly done . Do not know how to
< 1= x| <|A]
proceed after [—| <1 and left answers like
|k < x <|4]

|x‘ <‘k| or k<x<k or —1<x<l
Candidates who used Maclaurin series to find
the binomial expansion of (k + x)” have

problems finding region of validity. Gave

answers like |J¢| <lorxeR

[ii) | Letx=y+3y" andn=-3:
(k+y+3y2) )

2k =0.642 (to 3 sf)

=k ‘[1-&—(_—;)(y+3yz)+%(y+3yg)z+...J

J

=k 3(—%+k62)2:>2k5+9k—60

3 9 ., 6 ,
S

Surprisingly quite a number of
students do not know how to

solve _%-FF =2 or

2k> +9%—6=0
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Since € 1s small, sind =86, cos@~1——,
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